BT & HEHWE) |58 E=
AT T 174 213 224 437
FFREI—TE 189 181 206 387
FFREI=TH 205 247 251 498
FFHREI=TE 254 290 331 621
AERETET B 705 841 939 1780
FFHEETH 1057 1407 1521 2928
AFHETATH 573 743 816 1559
FHE+ETH 414 458 544 1002
|FFET\T B 190 159 202 361
IEFH—TH 232 238 284 522
EFEI=TH 935 1073 1142 2215
3/ O8 212 300 299 599
FSHET 0 0 0 0
FISE—TH 432 544 589 1133
MSE=TH 1362 1796 1949 3745
MREI=TE 339 437 485 922
M&ETMTH 438 608 615 1223
/NERET 608 939 947 1886
/NHEI—TH 114 142 150 292
/NEAB=TH 655 937 924 1861
INEHET=TH 143 209 213 422
FAOET 522 528 686 1214
ZFP9Er 0 0 0 0
FFE[—TH 201 254 262 516
|SFFHET—T B 262 401 425 826
EXE 1 1 1 2
S tEET—T B 331 500 472 972
StEEI—TH 442 558 630 1188
B FH 599 815 855 1670
= HRET 267 345 397 742
ZIRHET 244 349 357 706
— &bz 179 240 235 475
[ A< T 768 1061 1132 2193
LU FEET 498 639 655 1294
PRAERT—TH 245 287 300 587
YRAERT =T B 556 712 783 1495
PRAERI=TH 146 195 218 413
EEH 189 301 256 557
EER—TH 387 468 533 1001
EERZTH 295 367 423 790
EZEB=TH 591 696 763 1459
ZEHMTH 56 76 80 156
BAHET 543 524 76 600
BABI—TH 655 760 784 1544
HAETZTE 1102 1149 1334 2483
BAEI=TE 445 578 574 1152
BABTIUTH 854 1030 1074 2104
BAETRTE 572 650 728 1378
BAEI/<ATH 358 365 413 778
st EHT 347 356 325 681
M EBT—TE 247 211 214 425
MEBTZTE 431 511 501 1012
M ERT=TH 435 492 574 1066
h EETET H 239 323 315 638
A THET 2374 3349 3367 6716
R BRAET 303 441 440 881
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K EHET 0 0 0 0
UREEI—TH 264 371 366 737
UREEI—TH 508 671 743 1414
MRERI=TH 945 1183 1279 2462
UREETMET B 286 373 358 731
UREETETH 1228 1521 1587 3108
EEH 2416 3579 3573 7152
WAREH—TE 332 535 548 1083
WAEH-TH 456 700 711 1411
WAEH=TH 1451 2129 2243 4372
WAZEEFETH 758 1107 1233 2340
WAEHATH 421 612 663 1275
ESaN:N 373 537 579 1116
EHHET 207 288 314 602
Fh{EET 274 376 404 780
= AHET 463 679 710 1389
FOHET 488 667 715 1382
SR EET 211 316 316 632
S FHET 386 560 547 1107
B AT 745 1102 1070 2172
=aH 130 196 211 407
DEHE—TE 653 959 981 1940
DEHFZTE 610 905 909 1814
NEHAHF=TH 369 510 504 1014
TEE 0 0 0 0
EEE—TH 389 513 550 1063
EEL6=-TH 573 783 841 1624
BELS=TH 551 654 762 1416
KBHE—TH 756 1061 1137 2198
HEHE=TH 1060 1444 1553 2997
FEHE=TH 1190 1471 1603 3074
oM —TH 74 123 130 253
[E2oAH=TH 736 1196 1188 2384
FOAEBE=TH 225 334 369 703
HIEE—TH 235 400 392 792
HTE=E=-TH 230 375 363 738
A FH T 2 1 1 2
ANEE—TH 245 320 346 666
ANHET=TH 285 395 412 807
NHEBI=TE 310 450 446 896
ANHETMT B 197 301 321 622
EERT 4 6 1 7
EEBE—TH 663 912 914 1826
EERZTH 636 816 798 1614
EEE=TH 350 515 532 1047
EEEMETH 321 338 391 729
HEIXET—TH 271 333 320 653
ERE=TH 249 387 378 765
HEE=TE 145 206 220 426
EREIMETH 157 191 194 385
EREATH 249 350 333 683
EREATH 203 282 288 570
FHET 265 216 284 500
FHE—TH 209 232 262 494
FHBT—TH 173 243 274 517
FHET=TH 126 181 192 373
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BTE—TBH 211 298 303 601
BYE_TE 552 716 781 1497
®’TE=TE 141 180 198 378
FHUEF 1 2 2 4
HRRHEHF—TE 0 0 0 0
HPHE_TE 0 0 0 0
HPHEF=TBE 0 0 0 0
HPHEFETE 0 0 0 0
EAJIIET 148 206 258 464
= R ET 184 275 317 592
A FHET 286 424 427 851
N 320 471 508 979
WEFH 186 246 283 529
TH/RAT—U—TH 0 0 0 0
TO/AT—UZTH 0 0 0 0
TH/AT—V=TH 0 0 0 0
| 1% 3 BT 241 377 403 780
/NEF EHET 212 336 345 681
T=H 196 275 329 604
({4 3tf BT 301 473 469 942
|18 LI ET 9 8 7 15
Jt H BT 168 233 274 507
[it] BT 78 123 125 248
L RET 79 137 143 280
= 1ER] 118 177 176 353
1258 RT 264 435 446 881
A FI ET 121 173 198 371
5 SR BT 208 319 353 672
KEFHT 161 219 232 451
ITE:] 4 7 5 12
E=—TH 331 261 305 566
=_TH 605 515 623 1138
E=TH 533 507 617 1124
i 55 75 88 163
| FHET 225 282 323 605
EHE—TH 235 283 301 584
EHEZTE 157 180 200 380
AHET 816 945 1004 1949
= RIET 1361 1556 1613 3169
BT 1576 2043 2230 4273
DR 1053 1243 1183 2426
L+ {KHET 1063 1487 1469 2956
| £ FHET 551 793 774 1567
| EFEI—TH 149 164 179 343
EFH=TH 304 345 369 714
TFE=TH 337 415 428 843
/NEFHET 63 90 94 184
BILE—TH 525 690 762 1452
EILAE=TH 1846 1751 1814 3565
BLUE=TE 1809 2178 2312 4490
BEILAMTH 349 405 484 889
& 7 68100]  88517|  92926] 181443
SNEANERE 825 893 1100 1993
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